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And by two there is no publicity - RP 3779 N9 van O

OVERVIEW

7MY °27 maintains that the reason 2177 39 discontinued the 72 °192 9071 is
because there is a nmnn wwi. The 72 *192 702 was valid even 221w °192.
There is not sufficient publicity 2°1w °192 to assure us that the woman will
not remarry.

nvoIn asks:
= 73 9392 DOV 1IPNYI 9NINN ON)

And if you will say; let them institute that he may be »va» the v in the

presence of three. Why was jpn» jp17 2" that 7"2 %192 7072 is invalid? He could have
been jpnn that it must be 7wWow *102. If it is 7wHW °192 there is a sufficient 9 to prevent
her from remarrying. There will be no mAmn wwn.

Mo0IN answers:
= TIMY NMIPN 2391 MY YN

And one can say; 3"1 did not want to allow 7"2 °192 710°2 at all even if there
are three, and there 1s no concern of M1m»n. He was concerned on account

of the muww. If 7"2 2192 9172 would be allowed, the husbands can easily be 7v2an the
73 and not allow their wives to remarry.

SUMMARY

7MY °27 who maintains that 3" discontinued 7"°2 °192 90°2 on account of
D>t nIpn, agrees that the 72 °192 9072 could not have been maintained
even TwhW "193, since there still is the wwn of My napn.

THINKING IT OVER
1. If >"9 agrees that we are concerned about M1y, why is it necessary for
him to mention 2°7727 NIpN at all?'

2. Does w°ph w1 agree that there is a M71n NIpN?

I'See x"wAn.
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